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No.| 7=t wrg, | e | KR @t | @z ot |omwsg | jﬁi%
' - (m) | (nf) OFE | Wi o o @ ' I
1| A A —TH 21 1,800 138 9 147 #%4
2 |FIRIR KGR | 2.5] 4,900 53 1 54 FER%MH
3 |[IAFERM () | KB HET 4| 7,800 47 48| %4
4 [FEE CF) | R HEET 4| 7,800 54 55| %4
5 EDHE KA FH T 3| 1,700 52 53| #%Y
6 |F% A (1) RV T 4 800 15 15| #%Y4
7 BN (T) KIEMET | 3.5 2,700 22 22| ¥
8 [VH LI KIEHET | 3.5] 4,200 200 200 E%%4
9 [E M CT) KB HET | 4.5 14, 000 552 1 563| %Y
10 | PE Sk () FLA-E T 6] 3,000 108 108]  §%Y4
11 [P/ = Ko BT 4] 2,000 9 9] FEi%EY
12 [ pNGILS 2 700 26 27 %Y
13 [ BRI RHITHT 5| 3,200 70 71| %Y
14 [ wNGILD 3] 1,300 41 42| %4
15 [\ (1) (L FHET 5 700 0 0] %Y
16 [\ 1% (T) (L RHT 2| 3,600 30 1 31| #%Y4
17 | )\ i8I (L Iy 4] 2,000 17 17| FEi%Y
18 | AJRUHTH (L FHT 4| 3,400 31 31| &%
19 |SFHGE MawliLig 2 300 52 52| FEi%MH
20 | & F0 H{E R 5| 6,000 37 37| FEIEY
21 = AEiR Rl 1.5| 8,400 190 6 196] FEi%Y
22 | A5 (F) [ A RET 3.5 1,800 4 4 %Y
23 | A () | AR 5| 5,700 22 22| %
24 |/ RIE(T) EEAL 6.5| 3,600 16 16| FE%Y
25 /AR () | EET 7| 3,400 18 2 20| %4
26 |/MARIE (F) [ H T 5.5 3,000 18 2 20| %Y
27 | R AR HH & HT 71 9,800 15 15[ &4
28 |FnH Bt [RA W 4.5 5,000 40 40| FE%Y
29 | VAR M 4 BT 5| 1,800 3 3| %Y
30 [ZEAETR 4 BT 5| 3,600 11 1 12| FEi%Y
31 |#xin R () |4 F TR 5| 1,000 11 11| &4
32 [#a B (F)  [4 % TR 4] 1,800 17 17] %4
33 [iE A (k) JE [T 3.5| 1,800 47 1 48| FEi%H
34 [ E () HFET 3| 3,600 80 1 81| FaxH
35 | APRHEFEIE  [fAEET 4 800 8 8| %Y
36 | A LR H o FH T 4.5 800 8 8] %4
37 [ALRMAGE  [faHET 4.5 1,200 7 7| %M
38 [ R L 8| 3,900 11 11  #%Y4
39 |4 L (k) WA iy 6| 11,400 32 32| 2%y
40 |3E I e T 41 3,000 36 36| %4
A1 |[PEEZRIE () |ZERERT 5| 7,500 42 42| FEi%H
42 |PEEZAE (F) | SERERT 5/ 3,200 14 14| FEF%Y
43 [ miE HEFEHT 5 2,800 12 12| FEa%4
44 | E 2 B (E)  /MERET 5| 2,300 7 7l %Y
45 | 2 BB CF)  [/MEET 2| 6,800 55 4 59|  #%4




